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Solve edich equatlon. Check your solution.

nt6=8 . /=y+2 m+5=3 =gt r—4=22

Which one Poesn't Belong? Identify the sequation that
does not have the same solution as the other three.
Explain your reasoning.

—1=-3 b+5=-7 10+y=8 G+a=-8

The model represents the equatifonx +3=7, ) <> OQ
<><> K

How can you determine the value of x?
A Add three beans to each side.

B Subfract seven beans from each side.
C Subtract three beans from each side.
D Add seven beans fo each side,

1.2w-9=19

3.9+-6Li=39_ 4.19=6k-23 - |
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Selving Eguatiens Mer‘ﬁhemaﬁcéﬂg
The gool for solving equafions is fo Lrnd ’hﬂ 0 VAlUL Qp the v ! 5/

To do this we need fo \OUI c{ IIC/ the variable.

To solve equations mathematically use inverse operaflons. nverse operctions 'undo” each

other.’ %UP}QO(
Example: X+ 2k 6

The inverse operahon of addition is subtraction. To isolate the varable we will need fo
subtract 2 from eagh side, **Remember you musf do the same thing to BOTH sides of the

)+ =/ °>3/ %;gfﬁ\o AB5-5-10

N2
x= 4 l;

To solve two-step equations use reverse order of order of operoh ( L,{ jo’ L-f/

9(2) )fg - C'i -Exo‘mple:2x +”3=hg 4% peond 9""}
b4 z=a97 2l —4

’ X=3 f‘)(; e ;: ~®
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23=x- A= / * r=-
4 |2 ‘Tlg | %2)(‘/4 —IE} ék{ 5 11
ra«»«v‘é

@:5
bowling alley. Each game costs $3.50. How many

aames: co%owi of ){f;} h—?:ffgo fotal of $20 to spend? L;;,Jr{ 2N =1y, 3 )f 2 Cf{” Lf:' {%’@-Vlﬂf
) == 5 O0c¢ M(;hf! -
A fitness club Is having a specidl offer where you pay 5 H?’F) ? 91 \/]&(,@ b\‘j 3 % D—l/b

$22-1o join the club plus a.$16 monihly fee. Youhave a - /i C{/{ e e, _
fotal of $150 to spend.: How many months can you uss the CIU“F' - = jﬂ e " '2 e
L] £

NS0 =22 + ot W A
| step 2 %vde/womaa(ﬁe

Wille and Solve an equatioiforedeh sifuation, e
Suppose you spend.$6 to rent bowling shoes at the
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Algebra
Set 4: Solving Equations

Station 1
At this station, you will find a set of cards with the following equations written on them:

' X
x+8=5  —4x=24 X oD x7=-4 3= ~24=-6x

Youwit aléo find a set of car(:szri

x=-6 x=-d x=-3 x=3 x=4

Work with other students to match each equation with its solution.

Wog tﬁ er to check that each gianfys palred with ifs-correct solutjon, Write the @ helow.
W mateh, ¢ ‘

Explain the strategies you used to match up the cards. % I§O IQ‘C/ Al W\\/@f QC/
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Algebra
Set 4: Solving Equations

Station 4 _ ' /
s station, you will match equations to real-life situations and then solve ? equations.

Atthi
k\x:nh other students to match each situation to one of the following 31 uations. When
everyone er to solveit.

ees on the correct equation, write it on the kine, Then work t()/g

2x+3=25 3x+2=25 ?’ 25=2

1. Rosa bought some notebooks that cost $2 each. She also boyght a compass that cost $3 She

spent a total of $25: How many notebooks did she buy?

- Equation:

Solution;

2. 'Ms. Chen brought 3 packagesokp cils for he;é{ass Each package contained the same number
of pencils. The 25 students in her ella%s eaclyxok one pencil. There were 2 pencils left over. How

many pencils were in each package?
s

Solution: /

s

/

3. Tyler bought two copies of a D to give as gifts. He ha\d a coupon for $3 off his fotal purchase
The final cost of the DVDs wa< $25. How much did each DVD cost?

\.

Equation: ; 8
7 - AN

Solution;

’

4, Abowl can hold 251luid ounces of liquid. Omar empties a full teacup of&ater into the bowl

'3 times. Then he 4dds another 2 fluid ounces of water to fill the bowl. How-many fluid ounces
of liquid does tHe teacup hold? R\
Equation: _/ N
Solutiony oo
/
Explain the strategies you used to match the equations to the situations,
/ .
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